Year 6 - Four Operations| T
sen, e i || Addition Subrackion
Written 5,853 : - ‘ 2 Ji &
X 0 79
Multiplication ax 23 45,853 45,853 80,234 £8,734 j
5 gc3 17 559 23,463 23,463 33,241 33,241 6 subtract minus
’ X rx 16 69,316 93 46,893 add more plus less take away
23 117,060 | '1’ ] N increase total decrease leave
9 134,619 45,853+ 45,8S3+ 78{91.%3 4 78%}13 4 sum  altogether fewer difference
| : : 23,363 23,463 33,241 33,241 4
5,853X 5,853X B0 e 9310 893 — 6,893
23 (223 Divigion
59 17,559 8
} 117,060 =
5,853 —_— 0
X _
, 523 ) multiply  lots of divide remainder
W 5,853 times groups of share share equally
:l 23x multiplied by array groups of divided by
5,853 1;;59 216 + 12 = 216 =12 =% Jﬁf“d : subtraction .
23" ¥ ‘
2z 7,060 (M =12 12 [Zn e ~
Lssg. (2) = 24 (@* l'Z_) - 120 ¢ 1 How many 8s in 8?
| t (5) = 60 096 86,192 a1
5,853 5,853 (10) = 120 Y. &0 1 0 How many 8sin 1?
X X _ (@‘ 2) —_— 8,192 1:8=011 '
ax 23 . 23 (20) = 240 26
17,559 17,559 (40) = 480 x12) - 36 1,02 How many 8sin 19?
60 1 060 (80) = 960 (@ ) = 8|8,IIQ§ 19:8-213
— il 9 : 1,024 How many 8s in 32?
10+5+3 =18 8[8,192 32:8-




